

REFINING NUMERICAL RADIUS INEQUALITIES OF HILBERT SPACE OPERATORS

Mohammad Ali Shiran Khorasani and Zahra Heydarbeygi

Abstract. Several upper estimates for the numerical radius of Hilbert space operators are given. Among many other inequalities, it is shown that

$$\omega^2(A) \leq \frac{1}{4} \left\| |A|^2 + |A^*|^2 \right\| + \frac{1}{2} \omega(A^2) - \frac{1}{2} \inf_{\substack{x \in \mathcal{H} \\ \|x\|=1}} \left(\sqrt{\langle |A|^2 x, x \rangle} - \sqrt{\langle |A^*|^2 x, x \rangle} \right)^2.$$

1. Introduction

Let $(\mathcal{H}; \langle \cdot, \cdot \rangle)$ be a complex Hilbert space. The numerical range of an operator A is the subset of the complex numbers \mathbb{C} given by $W(A) = \{\langle Ax, x \rangle : x \in \mathcal{H}, \|x\| = 1\}$. The numerical radius $\omega(A)$ of an operator A on \mathcal{H} is given by $\omega(A) = \{|\langle Ax, x \rangle| : x \in \mathcal{H}, \|x\| = 1\}$. It is well known that $\omega(\cdot)$ is a norm on the Banach algebra $\mathcal{B}(\mathcal{H})$ of all bounded linear operators $A : \mathcal{H} \rightarrow \mathcal{H}$. This norm is equivalent with the usual operator norm $\|A\| = \sup_{\|x\|=1, x \in \mathcal{H}} \|Ax\|$. In fact, the following more precise result holds: $\frac{1}{2} \|A\| \leq \omega(A) \leq \|A\|$.

Kittaneh has shown in [7], that if $A \in \mathcal{B}(\mathcal{H})$, $\omega(A) \leq \frac{1}{2} (\|A\| + \|A^*\|)$, where $|A| = (A^*A)^{1/2}$. In the same paper, and by using a refinement of triangle inequality for positive operators, namely,

$$\|A + B\| \leq \frac{1}{2} \left(\|A\| + \|B\| + \sqrt{(\|A\| - \|B\|)^2 + 4 \left\| A^{\frac{1}{2}} B^{\frac{1}{2}} \right\|^2} \right)$$

it has been shown that

$$\omega(A) \leq \frac{1}{2} \left(\|A\| + \|A^2\|^{\frac{1}{2}} \right). \quad (1)$$

For an operator A , let $A = U|A|$ be the polar decomposition of A , where U is a partial isometry such that $\ker U = \ker A$. The Aluthge transform of A , denoted by \tilde{A} ,

2020 Mathematics Subject Classification: 47A12, 47A30.

Keywords and phrases: Numerical radius; operator norm; inequality.

is defined as $\tilde{A} = |A|^{\frac{1}{2}}U|A|^{\frac{1}{2}}$. The generalized Aluthge transform, denoted by \tilde{A}_t , is defined as $\tilde{A}_t = |A|^tU|A|^{1-t}$, $0 \leq t \leq 1$. In particular, $\tilde{A}_0 = U^*UU|A| = U|A| = A$, $\tilde{A}_1 = |A|UU^*U = |A|U$, and $\tilde{A}_{1/2} = |A|^{\frac{1}{2}}U|A|^{\frac{1}{2}} = \tilde{A}$. Here $|A|^0$ is defined as U^*U .

In [12], Yamazaki proved that $\omega(A) \leq \frac{1}{2} \left(\|A\| + \omega(\tilde{A}) \right)$. In fact, this is a refinement of the inequality (1).

Concerning the product of two operators, Dragomir [4] (see also [8, (17)]) has shown the following estimate of $\omega(B^*A)$,

$$\omega(B^*A) \leq \frac{1}{2} \left\| |A|^2 + |B|^2 \right\|. \quad (2)$$

For some recent and interesting results concerning inequalities for the numerical radius, see [6, 9, 10].

2. Results

We start our work with the following result.

THEOREM 2.1. *Let $A \in \mathcal{B}(\mathcal{H})$ and $0 \leq t \leq 1$. Then*

$$\omega(A) \leq \frac{1}{4} \left\| |A|^{2t} + |A^*|^{2(1-t)} + A + A^* \right\| + \frac{1}{4} \left\| |A|^{2t} + |A^*|^{2(1-t)} - (A + A^*) \right\|.$$

Proof. We have

$$\begin{aligned} \omega(B^*A) &\leq \frac{1}{2} \left\| |A|^2 + |B|^2 \right\| \quad (\text{by (2)}) \\ &= \frac{1}{4} \left\| |A + B|^2 + |A - B|^2 \right\| \quad (\text{by the operator parallelogram law}) \\ &\leq \frac{1}{4} \left\| |A + B|^2 \right\| + \frac{1}{4} \left\| |A - B|^2 \right\| \quad (\text{by the triangle inequality}) \\ &= \frac{1}{4} \left\| |A|^2 + |B|^2 + A^*B + B^*A \right\| + \frac{1}{4} \left\| |A|^2 + |B|^2 - A^*B - B^*A \right\|. \end{aligned}$$

Namely,

$$\omega(B^*A) \leq \frac{1}{4} \left\| |A|^2 + |B|^2 + A^*B + B^*A \right\| + \frac{1}{4} \left\| |A|^2 + |B|^2 - (A^*B + B^*A) \right\|. \quad (3)$$

Let $A = U|A|$ be the polar decomposition of A . By letting $A = |A|^t$ and $B = |A|^{1-t}U^*$, in (3), and by taking into account that

$$|B|^2 = B^*B = U|A|^{1-t}|A|^{1-t}U^* = U|A|^{2(1-t)}U^* = |A^*|^{2(1-t)} \quad (\text{by [2, (1)]})$$

we get

$$\omega(A) \leq \frac{1}{4} \left\| |A|^{2t} + |A^*|^{2(1-t)} + A + A^* \right\| + \frac{1}{4} \left\| |A|^{2t} + |A^*|^{2(1-t)} - (A + A^*) \right\|. \quad \square$$

We continue this section by establishing another upper estimate.

THEOREM 2.2. *Let $A \in \mathcal{B}(\mathcal{H})$ and $0 \leq t \leq 1$. Then for any mean σ ,*

$$\omega(A) \leq \frac{1}{2} \left(\left\| |A|^{2(1-t)} + |A^*|^{2t} \right\| \sigma \left\| |A|^{2t} + |A^*|^{2(1-t)} \right\| \right).$$

Proof. By the Cauchy-Schwarz inequality, we have

$$\begin{aligned} |\langle Ax, x \rangle| &= |\langle U|A|x, x \rangle| = \left| \langle U|A|^{1-t}|A|^t x, x \rangle \right| \\ &= \left| \langle |A|^t x, |A|^{1-t} U^* x \rangle \right| \leq \| |A|^t x \| \| |A|^{1-t} U^* x \|, \end{aligned}$$

and

$$\begin{aligned} |\langle Ax, x \rangle| &= |\langle U|A|x, x \rangle| = \left| \langle U|A|^t |A|^{1-t} x, x \rangle \right| \\ &= \left| \langle |A|^{1-t} x, |A|^t U^* x \rangle \right| \leq \| |A|^{1-t} x \| \| |A|^t U^* x \| . \end{aligned}$$

It follows from the first relation in the above that

$$\begin{aligned} |\langle Ax, x \rangle| &\leq \| |A|^t x \| \| |A|^{1-t} U^* x \| = \sqrt{\langle |A|^t x, |A|^t x \rangle \langle |A|^{1-t} U^* x, |A|^{1-t} U^* x \rangle} \\ &= \sqrt{\langle |A|^{2t} x, x \rangle \langle U|A|^{2(1-t)} U^* x, x \rangle} = \sqrt{\langle |A|^{2t} x, x \rangle \langle |A^*|^{2(1-t)} x, x \rangle} \quad (\text{by [5, (1)]}) \\ &\leq \frac{1}{2} \left(\langle |A|^{2t} x, x \rangle + \langle |A^*|^{2(1-t)} x, x \rangle \right) \quad (\text{by arithmetic-geometric mean inequality}) \\ &= \frac{1}{2} \left\langle \left(|A|^{2t} + |A^*|^{2(1-t)} \right) x, x \right\rangle = \frac{1}{2} \| |A|^{2t} + |A^*|^{2(1-t)} \|. \end{aligned}$$

Similarly, we can obtain $|\langle Ax, x \rangle| \leq \frac{1}{2} \| |A|^{2(1-t)} + |A^*|^{2t} \|$.

Now, by combining the inequalities 1 and 2 and employing the monotonicity property of the mean for positive numbers, we get,

$$\begin{aligned} |\langle Ax, x \rangle| &= |\langle Ax, x \rangle| \sigma |\langle Ax, x \rangle| \leq \frac{1}{2} \| |A|^{2(1-t)} + |A^*|^{2t} \| \sigma \frac{1}{2} \| |A|^{2t} + |A^*|^{2(1-t)} \| \\ &= \frac{1}{2} \left(\| |A|^{2(1-t)} + |A^*|^{2t} \| \sigma \| |A|^{2t} + |A^*|^{2(1-t)} \| \right) \quad (\text{by the homogeneity of } \sigma). \end{aligned}$$

The result follows by taking supremum over all unit vectors $x \in \mathcal{H}$. \square

It should be mentioned here that there is no ordering between $\| |A|^{2(1-t)} + |A^*|^{2t} \|$ and $\| |A^*|^{2(1-t)} + |A|^{2t} \|$, in general. The following example clarifies this statement.

EXAMPLE 2.3. Let $A = \begin{bmatrix} 0 & 3 & 0 \\ 0 & 0 & 4 \\ 2 & 0 & 0 \end{bmatrix}$.

If $t = 0.3$, then

$$\begin{aligned} \| |A|^{2(1-t)} + |A^*|^{2t} \| &\approx 8.48, \\ \| |A^*|^{2(1-t)} + |A|^{2t} \| &\approx 8.89. \end{aligned}$$

If $t = 0.6$, then

$$\begin{aligned} \| |A|^{2(1-t)} + |A^*|^{2t} \| &\approx 7.68, \\ \| |A^*|^{2(1-t)} + |A|^{2t} \| &\approx 7.01. \end{aligned}$$

The next theorem provides an extension for the celebrated inequality $\omega^2(A) \leq \frac{1}{2} \| |A|^2 + |A^*|^2 \|$ (see [8, Theorem 1]).

THEOREM 2.4. Let $A \in \mathcal{B}(\mathcal{H})$ and $0 \leq t \leq 1$. Then

$$\omega^2(A) \leq \int_0^1 \left\| t|A|^2 + (1-t)|A^*|^2 \right\|^{1-v} \left\| (1-t)|A|^2 + t|A^*|^2 \right\|^v dv.$$

Proof. Applying the same procedure as in the proof of Theorem 2.2, one can write

$$\begin{aligned} |\langle Ax, x \rangle|^2 &\leq \left\| |A|^t x \right\| \left\| |A|^{1-t} U^* x \right\| \left\| |A|^{1-t} x \right\| \left\| |A|^t U^* x \right\| \\ &= \sqrt{\langle |A|^{2t} x, x \rangle \langle |A|^{2(1-t)} x, x \rangle} \sqrt{\langle U|A|^{2(1-t)} U^* x, x \rangle \langle U|A|^{2t} U^* x, x \rangle} \\ &= \sqrt{\langle |A|^{2t} x, x \rangle \langle |A|^{2(1-t)} x, x \rangle} \sqrt{\langle |A^*|^{2(1-t)} x, x \rangle \langle |A^*|^{2t} x, x \rangle} \\ &= \sqrt{\langle |A|^{2t} x, x \rangle \langle |A^*|^{2(1-t)} x, x \rangle} \sqrt{\langle |A|^{2(1-t)} x, x \rangle \langle |A^*|^{2t} x, x \rangle} \\ &\leq \int_0^1 \left(\langle |A|^{2t} x, x \rangle \langle |A^*|^{2(1-t)} x, x \rangle \right)^{1-v} \left(\langle |A|^{2(1-t)} x, x \rangle \langle |A^*|^{2t} x, x \rangle \right)^v dv \\ &\quad \text{(by logarithmic-geometric mean inequality)} \\ &\leq \int_0^1 \left(\langle |A|^2 x, x \rangle^t \langle |A^*|^2 x, x \rangle^{1-t} \right)^{1-v} \left(\langle |A|^2 x, x \rangle^{1-t} \langle |A^*|^2 x, x \rangle^t \right)^v dv \\ &\quad \text{(by the Hölder-McCarthy inequality [11, Theorem 1.4])} \\ &\leq \int_0^1 \left(t \langle |A|^2 x, x \rangle + (1-t) \langle |A^*|^2 x, x \rangle \right)^{1-v} \left((1-t) \langle |A|^2 x, x \rangle + t \langle |A^*|^2 x, x \rangle \right)^v dv \\ &\quad \text{(by the weighted arithmetic-geometric mean inequality)} \\ &= \int_0^1 \left\langle \left(t|A|^2 + (1-t)|A^*|^2 \right) x, x \right\rangle^{1-v} \left\langle \left((1-t)|A|^2 + t|A^*|^2 \right) x, x \right\rangle^v dv \\ &\leq \int_0^1 \left\| t|A|^2 + (1-t)|A^*|^2 \right\|^{1-v} \left\| (1-t)|A|^2 + t|A^*|^2 \right\|^v dv. \end{aligned}$$

$$\text{Thus,} \quad |\langle Ax, x \rangle|^2 \leq \int_0^1 \left\| t|A|^2 + (1-t)|A^*|^2 \right\|^{1-v} \left\| (1-t)|A|^2 + t|A^*|^2 \right\|^v dv.$$

$$\text{Whence,} \quad \omega^2(A) \leq \int_0^1 \left\| t|A|^2 + (1-t)|A^*|^2 \right\|^{1-v} \left\| (1-t)|A|^2 + t|A^*|^2 \right\|^v dv,$$

as required. \square

The next result provides a refinement of the well-known inequality $\omega^2(A) \leq \frac{1}{4} \left\| |A|^2 + |A^*|^2 \right\| + \frac{1}{2} \omega(A^2)$ (see [1, Theorem 2.4]). Notice that our method is different from [1].

THEOREM 2.5. Let $A \in \mathcal{B}(\mathcal{H})$. Then

$$\omega^2(A) \leq \frac{1}{4} \left\| |A|^2 + |A^*|^2 \right\| + \frac{1}{2} \omega(A^2) - \frac{1}{2} \inf_{\substack{x \in \mathcal{H} \\ \|x\|=1}} \left(\sqrt{\langle |A|^2 x, x \rangle} - \sqrt{\langle |A^*|^2 x, x \rangle} \right)^2.$$

Proof. Buzano's inequality [3] asserts that $|\langle z, x \rangle| |\langle z, y \rangle| \leq \frac{\|z\|^2}{2} (\|x\| \|y\| + |\langle x, y \rangle|)$ for any $x, y, z \in \mathcal{H}$. Put $x = Ax$, $y = A^*x$, and $z = x$ with $\|x\| = 1$, then

$$\begin{aligned}
|\langle Ax, x \rangle|^2 &\leq \frac{1}{2} \left(\sqrt{\langle |A|^2 x, x \rangle \langle |A^*|^2 x, x \rangle} + |\langle A^2 x, x \rangle| \right) \\
&= \frac{1}{2} \left(\sqrt{\langle A^* Ax, x \rangle \langle AA^*, x \rangle} + |\langle A^2 x, x \rangle| \right) = \frac{1}{2} \left(\sqrt{\langle Ax, Ax \rangle \langle A^*, A^* x \rangle} + |\langle A^2 x, x \rangle| \right) \\
&= \frac{1}{2} (\|Ax\| \|A^*x\| + |\langle A^2 x, x \rangle|) \\
&= \frac{1}{2} \left(\frac{1}{2} (\|Ax\|^2 + \|A^*x\|^2 - (\|Ax\| - \|A^*x\|)^2) + |\langle A^2 x, x \rangle| \right) \\
&= \frac{1}{2} \left(\frac{1}{2} \left(\langle |A|^2 x, x \rangle + \langle |A^*|^2 x, x \rangle - \left(\sqrt{\langle |A|^2 x, x \rangle} - \sqrt{\langle |A^*|^2 x, x \rangle} \right)^2 \right) + |\langle A^2 x, x \rangle| \right) \\
&= \frac{1}{2} \left(\frac{1}{2} \left(\langle (|A|^2 + |A^*|^2) x, x \rangle - \left(\sqrt{\langle |A|^2 x, x \rangle} - \sqrt{\langle |A^*|^2 x, x \rangle} \right)^2 \right) + |\langle A^2 x, x \rangle| \right) \\
&\leq \frac{1}{4} \| |A|^2 + |A^*|^2 \| + \frac{1}{2} \omega(A^2) - \frac{1}{2} \inf_{\substack{x \in \mathcal{H} \\ \|x\|=1}} \left(\sqrt{\langle |A|^2 x, x \rangle} - \sqrt{\langle |A^*|^2 x, x \rangle} \right)^2.
\end{aligned}$$

This implies,

$$\omega^2(A) \leq \frac{1}{4} \| |A|^2 + |A^*|^2 \| + \frac{1}{2} \omega(A^2) - \frac{1}{2} \inf_{\substack{x \in \mathcal{H} \\ \|x\|=1}} \left(\sqrt{\langle |A|^2 x, x \rangle} - \sqrt{\langle |A^*|^2 x, x \rangle} \right)^2. \quad \square$$

Before stating the next result, we recall the famous polarization identity, which says that

$$\langle x, y \rangle = \frac{1}{4} \sum_{k=0}^3 \|x + i^k y\|^2 i^k \quad (x, y \in \mathcal{H}).$$

THEOREM 2.6. *Let $A \in \mathcal{B}(\mathcal{H})$ and $0 \leq t \leq 1$. Then,*

$$\omega(A) \leq \frac{1}{4} \sqrt{2 \| |A|^{4(1-t)} + |A^*|^{4t} \| + 4\omega^2(A) + 4 \| |A|^{2(1-t)} + |A^*|^{2t} \| \omega(A)}.$$

Proof. Let $A = U|A|$ be the polar decomposition of A . We have

$$\begin{aligned}
\operatorname{Re} \langle e^{i\theta} Ax, x \rangle &= \operatorname{Re} \langle e^{i\theta} U|A|x, x \rangle = \operatorname{Re} \langle e^{i\theta} U|A|^t |A|^{1-t} x, x \rangle = \operatorname{Re} \langle e^{i\theta} |A|^{1-t} x, |A|^t U^* x \rangle \\
&= \frac{1}{4} \left\| \left(e^{i\theta} |A|^{1-t} + |A|^t U^* \right) x \right\|^2 - \frac{1}{4} \left\| \left(e^{i\theta} |A|^{1-t} - |A|^t U^* \right) x \right\|^2 \\
&\leq \frac{1}{4} \left\| \left(e^{i\theta} |A|^{1-t} + |A|^t U^* \right) x \right\|^2 \leq \frac{1}{4} \| e^{i\theta} |A|^{1-t} + |A|^t U^* \|^2 \\
&= \frac{1}{4} \left\| \left(e^{i\theta} |A|^{1-t} + |A|^t U^* \right)^* \left(e^{i\theta} |A|^{1-t} + |A|^t U^* \right) \right\|
\end{aligned}$$

$$\begin{aligned}
&= \frac{1}{4} \left\| |A|^{2(1-t)} + U|A|^{2t}U^* + 2 \operatorname{Re} (e^{i\theta}U |A|) \right\| \\
&= \frac{1}{4} \left\| |A|^{2(1-t)} + |A^*|^{2t} + 2 \operatorname{Re} (e^{i\theta}U |A|) \right\| \\
&= \frac{1}{4} \left\| |A|^{2(1-t)} + |A^*|^{2t} + 2 \operatorname{Re} (e^{i\theta}A) \right\| \\
&= \frac{1}{4} \left\| \left(|A|^{2(1-t)} + |A^*|^{2t} \right) + (2 \operatorname{Re} (e^{i\theta}A)) \right\|^2 \Bigg|^{\frac{1}{2}}.
\end{aligned}$$

On the other hand,

$$\begin{aligned}
&\left\| \left(|A|^{2(1-t)} + |A^*|^{2t} \right) + (2 \operatorname{Re} (e^{i\theta}A)) \right\|^2 \\
&= \left\| \left(|A|^{2(1-t)} + |A^*|^{2t} \right)^2 + 4(\operatorname{Re} (e^{i\theta}A))^2 \right. \\
&\quad \left. + \left(|A|^{2(1-t)} + |A^*|^{2t} \right) (2 \operatorname{Re} (e^{i\theta}A)) + (2 \operatorname{Re} (e^{i\theta}A)) \left(|A|^{2(1-t)} + |A^*|^{2t} \right) \right\| \\
&\leq \left\| \left(|A|^{2(1-t)} + |A^*|^{2t} \right)^2 \right\| + 4 \left\| (\operatorname{Re} (e^{i\theta}A))^2 \right\| \\
&\quad + 2 \left\| \left(|A|^{2(1-t)} + |A^*|^{2t} \right) (\operatorname{Re} (e^{i\theta}A)) \right\| + 2 \left\| (\operatorname{Re} (e^{i\theta}A)) \left(|A|^{2(1-t)} + |A^*|^{2t} \right) \right\| \\
&\leq \left\| \left(|A|^{2(1-t)} + |A^*|^{2t} \right)^2 \right\| + 4 \left\| (\operatorname{Re} (e^{i\theta}A))^2 \right\| + 4 \left\| |A|^{2(1-t)} + |A^*|^{2t} \right\| \left\| \operatorname{Re} (e^{i\theta}A) \right\| \\
&= \left\| \left(\frac{2|A|^{2(1-t)} + 2|A^*|^{2t}}{2} \right)^2 \right\| + 4 \left\| \operatorname{Re} (e^{i\theta}A) \right\|^2 + 4 \left\| |A|^{2(1-t)} + |A^*|^{2t} \right\| \left\| \operatorname{Re} (e^{i\theta}A) \right\| \\
&\leq 2 \left\| |A|^{4(1-t)} + |A^*|^{4t} \right\| + 4 \left\| \operatorname{Re} (e^{i\theta}A) \right\|^2 + 4 \left\| |A|^{2(1-t)} + |A^*|^{2t} \right\| \left\| \operatorname{Re} (e^{i\theta}A) \right\| \\
&\leq 2 \left\| |A|^{4(1-t)} + |A^*|^{4t} \right\| + 4\omega^2(A) + 4 \left\| |A|^{2(1-t)} + |A^*|^{2t} \right\| \omega(A).
\end{aligned}$$

Thus,

$$\omega(A) \leq \frac{1}{4} \sqrt{2 \left\| |A|^{4(1-t)} + |A^*|^{4t} \right\| + 4\omega^2(A) + 4 \left\| |A|^{2(1-t)} + |A^*|^{2t} \right\| \omega(A)}. \quad \square$$

REMARK 2.7. Letting $t = \frac{1}{2}$, we get

$$\omega(A) \leq \frac{1}{4} \sqrt{2 \left\| |A|^2 + |A^*|^2 \right\| + 4\omega^2(A) + 4 \left\| |A| + |A^*| \right\| \omega(A)}.$$

THEOREM 2.8. Let A be a non-zero operator on $\mathcal{B}(\mathcal{H})$. Then

$$\omega(A) \leq \frac{1}{2} \left\| \tilde{A}_t \right\| \left\| |A|^{2(1-t)} + |A|^{2(t-1)} \right\|.$$

Proof. Let $x \in \mathcal{H}$ be a unit vector. Utilizing the Cauchy-Schwarz inequality and the arithmetic-geometric mean inequality, we can write

$$|\langle Ax, x \rangle| = |\langle U|A|x, x \rangle| = \left| \left\langle |A|^{t-1} |A|^{1-t} U|A|^t |A|^{1-t} x, x \right\rangle \right|$$

$$\begin{aligned}
&= \left| \left\langle |A|^{t-1} \tilde{A}_t |A|^{1-t} x, x \right\rangle \right| = \left| \left\langle \tilde{A}_t |A|^{1-t} x, |A|^{t-1} x \right\rangle \right| \\
&\leq \left\| \tilde{A}_t \right\| \sqrt{\left\langle |A|^{2(1-t)} x, x \right\rangle \left\langle |A|^{2(t-1)} x, x \right\rangle} \\
&\leq \frac{1}{2} \left\| \tilde{A}_t \right\| \left(\left\langle |A|^{2(1-t)} x, x \right\rangle + \left\langle |A|^{2(t-1)} x, x \right\rangle \right) \\
&= \frac{1}{2} \left\| \tilde{A}_t \right\| \left\langle \left(|A|^{2(1-t)} + |A|^{2(t-1)} \right) x, x \right\rangle \leq \frac{1}{2} \left\| \tilde{A}_t \right\| \left\| |A|^{2(1-t)} + |A|^{2(t-1)} \right\|.
\end{aligned}$$

Thus,

$$\omega(A) \leq \frac{1}{2} \left\| \tilde{A}_t \right\| \left\| |A|^{2(1-t)} + |A|^{2(t-1)} \right\|. \quad \square$$

In the next result, we give a lower bound for $\|A + A^*\|$. Let $m(A)$ be the nonnegative number defined by $m(A) = \inf_{\|x\|=1, x \in \mathcal{H}} |\langle Ax, x \rangle|$.

THEOREM 2.9. *Let $A \in \mathcal{B}(\mathcal{H})$ and $0 \leq t \leq 1$. Then*

$$\sqrt{\left\| |A|^2 + |A^*|^2 \right\| + m\left(A^2 + (A^*)^2\right)} \leq \|A + A^*\|.$$

Proof. We have

$$\begin{aligned}
\|A + A^*\| &= \sqrt{\left\| (A + A^*)^2 \right\|} = \sqrt{\left\| A^2 + |A^*|^2 + |A|^2 + (A^*)^2 \right\|} \\
&\geq \sqrt{\left| \left\langle \left(A^2 + |A^*|^2 + |A|^2 + (A^*)^2 \right) x, x \right\rangle \right|} \\
&= \sqrt{\left| \left\langle \left(|A|^2 + |A^*|^2 \right) x, x \right\rangle + \left\langle \left(A^2 + (A^*)^2 \right) x, x \right\rangle \right|} \\
&= \sqrt{\left| \left\langle \left(|A|^2 + |A^*|^2 \right) x, x \right\rangle \right| + \left| \left\langle \left(A^2 + (A^*)^2 \right) x, x \right\rangle \right|} \\
&= \sqrt{\left| \left\langle \left(|A|^2 + |A^*|^2 \right) x, x \right\rangle \right| + m\left(A^2 + (A^*)^2\right)}
\end{aligned}$$

Thus,

$$\sqrt{\left| \left\langle \left(|A|^2 + |A^*|^2 \right) x, x \right\rangle \right| + m\left(A^2 + (A^*)^2\right)} \leq \|A + A^*\|.$$

By taking supremum over all unit vectors $x \in \mathcal{H}$,

$$\sqrt{\left\| |A|^2 + |A^*|^2 \right\| + m\left(A^2 + (A^*)^2\right)} \leq \|A + A^*\|. \quad \square$$

REFERENCES

- [1] A. Abu-Omar, F. Kittaneh, *Upper and lower bounds for the numerical radius with an application to involution operators*, Rocky Mountain J. Math., **45(4)** (2015), 1055–1065.
- [2] R. Bhatia, F. Kittaneh, *Notes on matrix arithmetic-geometric mean inequalities*, Linear Algebra Appl., **308** (2000), 203–211.
- [3] M. L. Buzano, *Generalizzazione della disuguaglianza di Cauchy-Schwarz*, Rend. Sem. Mat. Univ. Politech. Torino., **31(1971/73)**, 405–409; (1974) (in Italian).

- [4] S. S. Dragomir, *Power inequalities for the numerical radius of a product of two operators in Hilbert spaces*, Sarajevo J. Math., **5(18)** (2009), 269–278.
- [5] T. Furuta, *A simplified proof of Heinz inequality and scrutiny of its equality*, Proc. Amer. Math. Soc., **97** (1986), 751–753.
- [6] M. Hassani, M. E. Omidvar, H. R. Moradi, *New estimates on numerical radius and operator norm of Hilbert space operators*, Tokyo J. Math, (2021). <https://doi.org/10.3836/tjm/1502179337>
- [7] F. Kittaneh, *A numerical radius inequality and an estimate for the numerical radius of the Frobenius companion matrix*, Studia Math., **158(1)** (2003), 11–17.
- [8] F. Kittaneh, *Numerical radius inequalities for Hilbert space operators*, Studia Math., **168(1)** (2005), 73–80.
- [9] M. E. Omidvar, H. R. Moradi, *Better bounds on the numerical radii of Hilbert space operators*, Linear Algebra Appl., **604** (2020), 265–277.
- [10] M. E. Omidvar, H. R. Moradi, *New estimates for the numerical radius of Hilbert space operators*, Linear Multilinear Algebra., **69(5)** (2021), 946–956.
- [11] J. Pečarić, T. Furuta, J. Mičić Hot, Y. Seo, *Mond-Pečarić method in operator inequalities*, Element, Zagreb, 2005.
- [12] T. Yamazaki, *On upper and lower bounds of the numerical radius and an equality condition*, Studia Math., **178** (2007), 83–89.

(received 27.03.2021; in revised form 10.08.2021; available online 04.07.2022)

Department Mathematics, Amirkabir University of Technology, No. 424, Hafez Ave., 15914, Tehran, Iran

E-mail: shirankhorasani@aut.ac.ir

Department of Mathematics, Torbat-e-Heydarieh Branch, Islamic Azad University (IAU), Torbat-e-Heydarieh, Iran

E-mail: zahraheydarbeygi525@gmail.com